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LHL* = 10 (Ag+ Ag - V) = In (A + A+ Y,)
AFLOD  A=0,0170 A=00058
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log(dY) = log [ (A + Az =)/ Ag]
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A
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Iog(dYIdY,) = log (A + A - Y)

~log (A + Az - Y,)
Y718, 0Y,=0,12 dY,/Y,,=0,0067
log[(dY(dY,)]=0, m,=0,86

log AY CIE tristimulus value Y difference
og(AY) AY L+= (ua) In [ 1+ b (Y,)]
3411 6823 Ua=2586 b=d,=6.14
tistimulus value ¥ difference
log(a¥)=log [ (s +aY)/c]
slog{(1+5-0Y1)) 1]
50017 g=0.00

relative tistmulus value Y diference
log(dYidY,) = log [(1+b-(Y/Y,) /1]~ log [(1+b) /1]

Y,=18 Y, = ooadvuwu nuoa
logl(@Y(@Y)=0,

CIE tristimulus

(AJAD In (As+ Ay - Y)
AFLOD  A=00170 4=0,0058
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value Y contrast

relative tristmulus value Y contrast
10g@YM) =log[(Ay+Az* )/ (Ag* 1]

log [(Avm ! (Avu/vu)] relative CIE msumulus
\iv,) value Y o

e
logl{AYIMI(AY,/Y,)] =log [ (Ay+ Az Y) Y]
~log [(Ay+ Az * Y 1Yy ]
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Tloal@vrav.vo)
Y,F18 4Y,012 dYY,;

CIE tristimulus
value Y contrast
L= (Wa)In[ 1+ (V1Y)
a=0.3411 1=8823 Ua=258.6 b=,=6.14
ristimulus value Y contrast
log(dY/Y)=log [ (1+ b (YM) /()]

log [(va; 1 (Avu/vu)] relative C\E msnmums
VIVI(@VIY,) value Y contrast
o
03411 (8823 Ua-258.6 b=¥,=6.14
velatve wisimlus value Y contrast
Togl@YMI@Y, Y] =10 [L+-(Y1%)) (9]
~log [(1+5)/ (£Y,)]
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log(¥/aY)

WESSoTN

=0,0170 A=0,0058
relative tisimulus value Y sensivity
log(Y/dY)=log [ (AytAz*Y) I (Ag* V)]

log [(v/Av) 1(YylAYy)] relative CIE tristimulus
=(YIB)(Y,/AY,) value Y sensitivity
s R Ay
A=00170 4=0,0058
relaive visimlus value Y sensitvy
Togl(YIAW(Y,/aY,)]= 0 [/ (Ar+ Az )]
~log 1Y,/ (A + Az - Vo)1

1,338 =18 dY,=0,12 Y,/dY, =148
og[(Y/dY)(Y,/dY,)}=0. m,=0.13

log (Y/AY) CIE tristimulus
log’s) S=(viaY) value Y sensitivity
L*=(Va) In [1+b (Y/Y,)]
03411 (8823 Ua=250.6 b=,=6.14
risimulus value Y sensitvity
log(Y/dY)= log [ (1+6-(¥1¥,)) /()]
18 dY,=0.08 Y,/dY, =222
2
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log [(v/Av) ! (vu/Avu)] relative CIE tristimulus
0S) /5=,y value Y sensitvity
= (a)in[1+b
P e B
velaive wisimulus value Y sensitity
Togl(YIGW(Y,fdY,)]= 10 ()1 (b (Y1Y,) ]
ottt vo )

L*, =508 Y,=18, 0Y,=0.08 Y,/dY,=222
logl(Y/dY)(Y,/dY,)

TUB-test chart WES5; CIELAB and LABIND_2 formulae |npu[ w/rgb/cmyk —> w/rgb/cmyk
Threshold lightness, dlfference contrast, and ! sensmwty output: no change
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